SAMPLE SIZE WORKSHEET - ANSWERS
Goal:  You want to do an in-person household sample and interview 250 persons aged 65 and over, selecting only one per household.  

Question:  How many housing units do you need to include in the sample?

1.  Assumptions:

· OR: Occupancy rate = 
.95
(5% of housing units are vacant)
· ER:  Elegibility rate =
.25
(75% do not have anyone aged 65+)
· RR:  Response rate =
.50
2.  Expand the desired number of interviews up to the required sample size:


Required n =  (Desired n)  /  (OR * ER * RR)

Required n =   250 /  (  .95  * .25  * .50 )  =  2,105
3.   Check your result by applying each factor:


Required sample size:



2,105

Expected to be occupied (95%)


2,000

Expected to have someone 65+ (25%)

  500

Expected to cooperate (50%)


  250

Make sure that you can expect to end up with 250 completed interviews.
